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L. Artificial tears may contain
a) Gentamicin
b) Atropine
¢) Phenylephrine
d) Carboxymethyl cellulose

2.In DTP vaccing; P corresponds to
a)Pneumonia’
b)Whooping cough
c)Poliomyelitis
d)Yellow fever

3.Nasal spray should always be administered with the patient in an up-right position
to

a) avoid systemic absorption
b) enhance systemic absorption
¢) avoid local action in nose

d) avoid first pass-effect

4 Purified water of [P grade can NOT be obtained by
a) Filtration
b) Distillation
c) lon exchange
d) Reverse osmosis

5.To avoid expiry of drugs in store following procedure should be followed
a) First in first out
b) First in last out
c) Early expiry first out
d) Late expiry first out

6.Lead period for getting a supply in store is
a) Time required to get the stock from the date of order
b) Time required to get the stock from stock falls reorder level
¢) Time required to get the stock from the next alternate supplier
d) Half of the shelf life of the drugs ordered or in stock

7.The following are drug therapy problems except
a) an adverse effect from a medication.
b) symptoms caused by undertreatment.
¢) adrug—drug interaction.
d) anundiagnosed condition.
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8.Which of the following in the vanishing cream is used for its emollient effect
a) Stearic acid
b) KOH
¢) Glycerin
d) Cetyl alcohol

9.1f the product has been substituted wholly or partially by another drug; it isknown
as !

1
L}

a) -Spurious drug
b) Adulterated drug
¢) Misbranded drug
d) Poisonous drug

10.Loss of taste sensation is side effect of following antihypertensive drug
a) Clonidine
b) Captopril
¢) Verapamil
d) Prazocin

I1.Which preservative is used in-adrenalin injection
a) Sodium bisulfate ‘
b) Mercuric nitrate
¢) Chloroform
d) Alcohol

12.In amendments to the Drugs and Cosmeties’ Act 1940, How many drugs “are
considered in'the restricted category?

a) 44
b) 45
c) 46
d) 47

13.Pregabalin is indicated for the treatment of

a) Hyperthyroidism

b) Glaucoma

¢) Diabetic Neuropathic pain
d) Migraine
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14. Simethicone is
a) Laxative
b) Antiflatulent
¢) Antidiarrheal
d) Antacids

15.Suspensions should never be administered by which of the routes?

a) Intradermal
b) Intravenous
¢) Subcutaneous
d) Intramuscular

16.Which of the following may not be used as an additive in preparing parenteral
products? ‘

a) Buffering agents

b) Antibacterial préservatives

¢) Coloring ageants

d) Antioxidants

I7.License from excise department of the state is required to stock all the following
except

a) Rectified spirit
b) Morphine
¢) Pethidine
d) Phenobarbitone

I8..Tablet coating which resist dissolution in gastri¢ fluid but disintegrates in intestiste
is

a) Film coated

b) Sugar coated

¢) Enteric coated

d) Dry coat

19.The antilepra drug is

a) Tetracycline
b) Rifampicin
¢) Ampicilin

d) clindamycin



ABC

20.Chlorpheniramine is
a) local anaesthetic
b) anticonvulsant

¢) antifilarial

d) antihistamine

21.L-dopais a
a) Antianaemic drug
b) Antiparkinsonism drug
¢) Antiarrhythmic drug '
d) -Antianginal drug

22.More commonly used antitussive is
a) Codeine

b) Dexamethasone

¢) Bromhexine

d) Gentamicin .

23 .Metoclopramide is
a) An antiemetic
b) An analgesic
c) An expectorant
d) - Antipsychotic

24 Diethylcarbamezine is used to treat
a) Asthma

b) Epilepsy

¢) Bilhariasis

d) Filiarasis

25.Which of the following can cause hair growth on face in females?
a) Cyclosporine
b) Tacrolimus
¢)-Prdnisolone
d) Azathioprine

26.While dispensing Tetracycline, Pharmacist should advise the patients
NOT to take the drugs along with
a) Calcium and Iron tablets
b) Antacids
¢) Milk & dairy products
d)‘All the above
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27.All the drugs are banned in Indian market Except
a) Sibutramine
b) Mosapride
¢) Phenyl Propanolamine
d) Rosiglitazone

28 Propranolol is contra-indicated in
a) Epilepsy

b) Hyperthyreidism

¢) Bronchial Asthma

d) Migraine

29 Patient taking MAO inhibitors are advised NOT to take ~ along with drug

a) Caffeine

b) Cabbage

¢) Coumarin

d) Cheese
30.Which of the following polyols should never be used-as a sweetening agent because
of its severe toxicity?

a) Sorbitol

b) Glycerol

c) Propylene glycol

d) Ethylene glycol
31. You are asked prepare 3% ointment but your pharmacy has only 5% and 1%
ointmentbases. Which one of the following combination you will make use?

a) 40% of 5% +60% of 1%

b) 50% of 5% +50% of 1%

c) 60% of 1% + 40% of 5%

d) 70% of 1% +30% of 5%

32.What dogs biennial check of pharmacy means ?
a) once a year
b) twice a year
c) every two months
d) every two years
33.Eplerenone is a
a) loop diuretic
b) aldosterone antagonist
¢) calcium channel blocker
d) cardioselective beta blocker
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34.Which one of them is antidote for paracetamol poisoning ?
a) penicillamine
b) phenacetin
¢) deferione
d) N acetyl cysteine
35.Impotence occurs with use of
a) cimetidine
b) sucralfate 5
c¢) doperamide
d) ondansterone ‘

.

36.Which of the following cytochrome is most abundantly seen in our body?
a) 1A4
b) 2A6
c) 3A4
d) 2C6

37.Which one of the following drugs is to be avoided in diarrhea ?

a) Beta receptor blofcker

b) Alpha receptor blocker

¢) H2 receptor antagonist

d) Muscarinic receptor antagonist

38.Which of the following agents is useful in treating High serum levels of Ammonia?
a)Glucose
b)Galactose
c)Lactulose
d)Sucrose

39.Which one of the ratios is the best indicator of Pharmacy’s Profitability?
a)net profit to net sales
b)net profit to net worth
c)net profit to total asset
d)net profit to inventory

40.Which of the following drugs is indicated as uterine relaxant for women in labor ?
a) Ephedrine
b).Terbutaline
¢) Isoetharine
d) Metaproterenol

\\«
A\
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47 :Which of the following can be used for the treatment of Methotrexate overdose ?

a) Leucovorin
b) voriconozole
¢) Pyridoxine
d) cyclosporine
48.Which of the following drugs should not be used with Fluoxetine

a) Promethazine ;
b) Carbamazepine )
¢). Bromocryptine

d) Tranylcypromine

- A2

49. Heparin 25,000 U in 250 mL D5W is running through an administration set 60
drops/mL. The flow rate required to deliver a heparin dose of 15 U/min is:

a)0.9drops/min

b) 9.0 drops/min
¢)54.0/drops/min
d) 90.0 drops/min

50.The appearance of crystals in mannitol injection indicate that the product:

a) exposure to cold

b) settled while shipping

c) contains impurities

d) formulated using sterile saline

51. Which one of'the drugs is least likely to cause electrolyte imbalance ?
a) sodium bicarbonate

b)potassium chloride

c)aluminium hydroxide

d)sodium chloride

52.Which one should carry a label “Do not Freeze” ?
a) chlorpromazine syrup
b) Ampicillin syurp
¢) Co trimoxazole suspension
d) cephalosporin suspension

53.Which ene will show nonlinear pharmecokinectics ?
a)phenytoin

b)Lithium

¢)Quinidine

d)carbamazepine

xR

-
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54.The antibacterial activity of phenol is increased by
a) rise in pH

b)rise in temperature

c)addition of vegetable oil

d)addition of ammonium compound

55.Early symptom of asprin poisoning is
a)skin rash

b)fluid retension

c)throbbing headache

d)ringing in ears

56 Intestinal perforation in ulcerative colitis occurs with
a)metoclopramide

b)methyl cellulose

c)loperamide

d)propanthiline

57.How many millmoles of potassium are there in 500 mg of Potassium chloride?
a)6.7

b) 13.4

c)26.8

d)40.6

58.What is major contraindication for use of over the counter medications containing,
sympathomimetic drugs ?

a) Bronchial asthma

b) Gastric ulcer

c) Hypertension

d) Rheumatoid arthritis

59. Which aatimalarial drug to be avoided in GOPDH deficiency ?
a) Chloroquine

b) Amodiaquine

c¢) Primoquine

d) Mefloquine

60.Cyproheptidine belongs to which group of drugs ?
a) antithistamines

b) antihypertensives

c)antiepileptics

d)antidepressants
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61 .Which one of the following drugs has anti inflammatory action ?
a) codine

b) pethidine

¢) methadone

d) meloxicam

62. The antimicrobial action of cephalésporin is
a)inhibition of tyrosine kinase

b)inhibition of protein synthesis

¢)inhibition of DNA synthesis ‘
d)inhibition of cell wall synthesis

63. Which one of the following is pharmacological action of Histamine ?
a) Constriction of capillaries

b) Reduction of heart rate

¢) Gastric acid secretion

d) Elevation of blood pressure

64.-All the following products used-in the treatment of glaucoma are applied topica
EXCEPT:

a) Xalatan

b) Diamox

¢) Trusopt

d) Timoptol

65.All are not true regarding Terazosin except
a). constricts'smooth muscle

b) . is a selective beta-blocker

c) .increases urinary flow rate

d). iis contraindicated in prostate hyperplasia

66.Dipyridamole is an

a) antiplatelet drug

b) anti inflammatory drug
¢ )antihypertensive drug
d) antianginal drug

67. All the following combinations produce hazardous reaction except
a) ergotamine and zolmitriptan

b) warfarin and gliclazide

c)progestrone and clindamycin

d) captopril and spironolactone

N\
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41.Which of the following equations may be useful to find out the plasma
concentration of a drug ?

a) VaxP=C,
b) Px Cp= Vg4
¢) Va= PIC,
d) Va=Cy/P

42 Heparin 1§ classified as:

a) Oligosaccharide
b) Monosaccharide
¢) Homopolysacharide
d) Heteropolysacharide

43.The degradation of Penicillin G
Procaine is highestin:

a) Tablet

b) Elixir

¢) Solution
d) Suspension

44 Sodium polystyrene sulfonate is found to lower Serum concentration of
a) sodium

b) potassium

¢) aluminium

d) calcium

45.Which of the following is an HMG-COA inhibitor ?

a) Niacin
b) Gembifrozil
¢) Cholestyramine
d) Lovastatin
46.Which of the following drugs is known as an inodilator ?
a) amphetamine
b) amphotericin
.¢) ambrinone
d) allopurinol
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68. In order to make a generic substitution, a pharmacist must do which of the
following?

a). Notify the patient of the substitution.

b) Charge the same or lower price for the generic.

c). Place the brand name on the label

d). Obtain the physician'sconsent

69. Which of the following requires the advisory label warning, "May cause
drowsiness"?

a). tegasorb

b) indapamide

¢) cyclobenzaprine

d) modafinil

70.Which of the following statements demonstrates that a patient understands the risks
associated with doxorubicin?

a) "I should avoid in pregnancy."

b) “I may have blood in my urine."

c). "I need to drink a lot of water."

d) "I will have permanent hair loss."

71. A patient brings in a vial of cloudy regular insulin. Examination of the.medication
profile reveals simultaneous use of NPH and regular insulin. Which of the following is
the MOST PROBABLE explanation for the cloudy appearance?

a). The insulin has been improperly stored.

b). The insulin has expired.

¢). The msulin has been contaminated.

d). The insulin is expected-to be cloudy

72. Which of the following should be reported tathe prescriber indicating an adverse
drug reaction to montelukast?

a). an increase in respiratory tract infections

b). an increased serum creatinine

¢). a decrease in libido

d). a decreased serum albumin

73. Which one of the following oral medications should be -administered with food?
a). atenolol

b). saquinavir

c). fluconazole

d). levofloxacin

11
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74. A pharmacist calls the physician to report an increase in INR for a patient or
warfarin protocol. Which one of the following drugs is MOST LIKELY to accoun
for this observation?

a). cefotetan

b). ramipril

¢). digoxin

d) pantoprazole

75. A patient weighs 148 Ib, is toréceive enoxaparin 1.5 mg/kg subutaneously dail
for 7 days. calculated the total-daily dose 1s §

a). 80 mg )

b). 100 mg

c). 150 mg

d). 220 mg

76. All are safety techniques observed while dispensing the drugs
Except

a) Donot work on several prescriptions .

b)-Do not be pressured to rush.

¢) Do not consult the doctors

d) Do not chat while dispensing

77 Idiosyncratic reactions, genetic /immunological allergic reactions are

a) Type A Adverse reaction
b) Type B Adverse reaction
c) Type C Adverse reaction
d) Type D-Adverse reaction

78.All the drugs given below may require Therapeutic drug monitoring Except
a) Digoxin

b) Lithium

¢) Cyclosporin

d) Adrenaline

79 Filgrastim is:

a) Interleukin

b) Granulocyte colony-stimulating factors
¢) Tumor necrosis factor
d) Allof the above

A\
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80.The branch of Pharmacology that study the inherited difference in drug
response in the population/ethnic-groups is called

a) Clinical Pharmacology
b) Pharmacoeconomics
¢) Pharmacogenomics
d) Ethnopharmacology

8 1. Hydroalcoholic solutions for oral use containing sugar are called
a) Syrups
b) Spirits
¢) Tinctures
d) Elixirs

82.Creaming and coalescence may affect stability of
a) Solutions
b) Suspensions
¢) Emulsions
d) Syrups

83.0TC drugs means
a) Drugs which need prescription for dispensing
b) Drugs which can be dispensed on the patient’s demand
¢) Drugs which are poison
d) Drugs which produce dependence

84.Auxiliary labels doo-NOT contain an information like
a) Shake well
b) Keep in refrigerator
c) For external use only
d) Take I Tablet 4 times a day for 10 days

85.What % of sodium chloride will be required to make 1% atropine sulfate solution
isotonic? (Sodium chloride equivalent of atropine sulfate is 0.12)

a) 0.912%

b) 0.78%

c) 0.9%

d) 0.88%
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86. Safe antiemetic drug used in morning sickness?
a).Diphenhydramine.

b).Meclizine

¢).Promethazine

d). Dimenhydrinate

[

87.Local injection therapy for erectile deficiency may include
a) Sildenafil ‘
b) Prazosin

¢) Yohimbine

d) Alprostadil

88. QT prolongation occurs with
a) flucloxacillin

b) gatifloxacin

¢) gentamycin

d) clindamycin

89. Which one of the following is ultrashort acting beta blocker ?
a) pindoloo : :

b) esmolol

¢) sotalol

d) propranolol

90. Which one of the following is effective in Pneumocysti carinae infection?
a) ketoconozole

b) metronidazole

¢) Co-trimoxazole

d) fluconozole

91. A solid or semisolid mass.meant to be inserted into body orifice is called
a) Capsule
b) Tablet
¢) Suppository
d) Enema

92.0ne tablespoon is equal to
a) 15 ml '
b) 20'ml
¢)<5'ml
d) 10 ml

ALY
N
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93.1mEq of KCI (Molecular weight 74.5g) 1s
a) 37.25g
b) 74.5g
c) 74.5mg
d) 149mg

94 How many grams of water are needed to make 150g of a 4% w/w solution of
potassium acetate?

a) 100
| b) 130
| c) 135
| d) 144

\ 95.Water for injection is

‘1 a) sterile waterwith coloring agent

' b) Distilled water free from pyrogens
c) Sterile-water free from pyrogens
d) Distilled water with coloring agent

96.In the prescription, the abbreviation S.0.S. indicates
a) before meals
b) need only
c) after meals
‘ d) suppository

97.Which of the following factors is associated with an increased risk“of
noncompliance in the elderly?

a) Polypharmacy
b) Hypertension

| c)CLiving with a spouse in an isolated environment
| d) Expensive medications

15
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98.Which equation is used to predict the stability of a drug product at ro
temperature from experiments at accelerated temperatures?

a) Stokes equation

b) Young equation

¢) Arrhenius equation

d) Michaelis—Menten equation

99.The dispensing pharmacist usually blends potent powders with ',a large amoun
diluent (powder) by ,

a) spatulation.

b) sifting.

¢) trituration.

d) geometric dilution.

100.The adult dose of a drug is 250 mg.,;What would be the approximate dose for ;
year=old child weighing 60 1b? (Use Young's Formula.)

a) 60 mg

b) 83 mg

c) 100 mg

d) 125 mg
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